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SECTION-1 | GENERALAPTITUDE TEST | 25 QUESTIONS
Q1 Study the following pie chart showing Q1 F=feafaa o o, & % o
expenditure distribution of a certain family = far @ @ fawor &1 wefia o= &,

o ° |

Expanditure Distribution

U1
Vi

Entertainmant
10w

afe uRRam @ =g a9 T 18,000 gt

If the expenditure budget of the family is
§ . . 2 o whneE, FUel v ofRass &=t

T 18,000 per month, then the monthly

expenses on entertainment, clothing and HET TR B Are A 2 e s
transport combined will be. (A) T 1,800

(A) T 1,800 (B) ¥3,200

(B) 3,200 (C) T 5,400

(C) T5,400 (D) T2,800

(D) ¥2,800

Q2 Nikhil, who is Raman’s son, says to Esha, Q2 fAftw, it 6 v &1 g= B, §901 A wEan

“Your mother, Ria, is the younger sister of 2, “omaet i Rar, wy foar @ 91 a8
my father, who is the second child of 2, afte A% foe, gewr o gl e 1
Suresh.”
' wew @1 §w | T Haw @2
How is Suresh related to Esha?
(A) frem
(A) Father (B) e/ ®rr/
(B) Uncle (©) g
(C) Brother (D) =rEn

(D) Grandfather
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Given below are three statements followed
by two conclusions. ldentify which
conclusion(s) definitely follow(s) from the
given statements disregarding the commonly
known facts.

Statements:

I.  Allcomputers are laptops.

II. Alllaptops are smartphones,
lll. Some smartphones are tablets.

Conclusions:
l. Some tablets are computers.
ll. Somesmartphones are computers.

(A) Onlyconclusion I follows.

(B) Only conclusion I follows.

(C) Baoth conclusions | and [l follow.
(D) Neither conclusion [ nor I follows.

Q3

i Py Al 9ud e 9 Fed Ry
Ty ¥ | fafesa &t 6 o w1 /9 Prad
faw v wy=t @ FfYaa w9 @ s
T/ &/ 8 W @) A " w9
¥ =g =t | e et

G EH

. i Fvgey A #)
il W e wdeE &)
. {F FEHH 2ade |

s
. oY Sacic Tagex ¥
. HB FEHH Fget ¥

(A) @aa Frsed | arpavor svar &)

(B) @ae femd 11 arewoer v &)

(C) Frremd 1alR 11 &1 arpaver &
4l

(D) 7 af Fremd [ afe 51 & Fesd ()
HTHIOT HY B
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Q4

Q5

LM-E

Which option follows figure C in the same
way as figure B follows figure A?

] 2 s _'
sl ol (] ?
LAl 1] Kl
w | A

T12
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=]

(D)

E

Find the odd one out of the below list of
colours.

Orange, Violet, Brown, Red, Green, Indigo,

'ﬁ.‘":m

(A) Orange
(B) Brown
(C) Green
(D) Indigo

Q4

Q5

Prfafaa o 9 299 w1 Rew fm cw
faa B, fra A &1 apeoT wvan 87

—

ol [0l (K] ?

FAD

iAl im Kl
(A) ;
T12
(B) ﬁ
416
614

(©) ;

o | X

i A Frafafea g A @ @ @
g Hfong |

(A) =T
(B) [

(C) &1
(D) e
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Q7
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Read the following terms and decide which
one does NOT fit in that group.

Average, Range, Mean, Variance, Standard
Deviation, Mode, Refraction

(A) Mean
(B) Variance
(C) Mode
(D) Refraction

Study the below statements and choose the
correct Venn Diagram depicting the

information in the statements.

I.  Some boys can sing

2. Some boys can dance

3. Some boys can sing and dance

Sing

Dance

(A) @

Boys

(B)

(D)

Q6

Q7

Freferftae et @ o3 ol Faifa ot fs
FH TR W @ W T &

3rea, Ui, W, TeR, A e
qgoT®, Y

(A) AT
(B) WHRw

(C) Tge®
(D) 9@

fFrfaftan syt #) v alr T2 4 fae
Y Al @ veffa s o ¥
AN F U Y |

l. TP 8D MAT N GHd £

2. [P AFD T N "I £

3. [P FED A U6 TA TN
Hwad B

CECT
- T
. @0
@
*T®

(D)
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A cube is painted yellow on all its surfaces.
Later, the cube is cut into 64 smaller cubes
of equal size. How many of these smaller
cubes will NOT have yellow colour on any
of its surfaces?

(A) 4

(B) 8

(C) 12

D) 16

Sonam and Sheetal leave the same office
and travel towards their homes. Sonam
travels towards north for 12 km, tumns right
and goes another 5 km to reach her home.
Sheetal travels towards south for 12 km, but
turns left and goes another 15 km to reach
her home. What is the shortest distance
between their homes?

(A) 13km

(B) 17km

(C) 26km

(D) 34km

41567211

Q8

Q9

UEH B @ UR wasl & 9@ | @
R wan| 9wS 918, 99 €A B A9
TR g 64 BT Tl | wre R wan
7 9 feom B v U9 & e
fd o wow o dren 1 € S?
(A) 4

B) 8

(©) 12

(D) 16

s ol fioe ve @ Siffvw @ Fea
T - R B IR e &)
W TN B AR 12 km gl 8,
3¢ 48 BT 5 km Ton &, AR awE W
ygg wndl & | Hiaa 12 km @ <o A1
IR ot 8, @ A e e oh B
3R 39 @R 0@ ggE @ fAU 1Skm @
0 a9 ol @ | o w1 @ W g
of faereh 87

(A) 13km

(B) 17km

(C) 26km

(D) 34km
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Below is a statement followed by two
conclusions, Read them carefully and decide
which conclusion(s) logically follow(s) the

statement given.

Statement:
The quality of teachers has deteriorated in
the government schools and parents prefer

to enrol their children in private schools.

Conclusion:

I) Theauthorities must take immediate
action to step up the quality of teachers
in schools.

II) All government schools must be either

privatised or closed down completely.

(A) Onlyconclusion | follows.
(B) Omly conclusion Il follows.
(C) Either conclusion | or 1l follows.

(D) Neither conclusion | nor 11 follows.

30007211

Q10 R s T aliv 9w Hafag g1 e

faw my 8 | 9% wrgds v IR fwifta
¢ & 3 W /A Frad Ry v o=
B AMDS Y | FEO AT/ D

g/8|

HU:

X el A et A [eEen '
81 1 & o aiffnias arg= &=t & fach
ol # aiftaen e gwe s §)

Bfﬁﬂf:

N weERa 1 e 4 et @)
ol A GER & oy e S
He EIfey |

i) i avas) weet @ ar o Fofra
& e s ety ar oof wu @
97 o faar s =nfgn )

(A) wad et | aFeRor v 8 |

(B) @aer femd 11 argeor aven &)

(C) = ot Fremd | ar Frsd 11 arpaw
e B

(D) 7 ot Fred | sl =1 & Pk 10

HTET Bl § |
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Q12
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Choose an option that is a valid assumption
for the below statement.

Statement:

Due to the concerns of pollution, the Delhi
government had completely banned the use
of crackers in the last Diwali festival,

(A) The bursting of crackers is considered
to be inauspicious during Diwali
festival.

(B) Citizens love to celebrate Diwali only
with lanterns and not crackers.

(C) Children love to watch movies and play
video games instead of bursting
crackers.

(D) The bursting of crackers further
increases the smoke and hence pollution
levels in the city.

Below is a statement and two courses of
action given. Read the statement and decide
which course(s) of action need(s) to be
followed with regard to the statement given.

Statement:
There has been an increase in the number of
burglary cases last year compared to

previous years.

Courses of Action:
I.  The police department must step up its
vigil with more policemen on night duty.

Il. Theresidents must be advised to be
extra cautious with strangers and
deploy security guards and night
watchmen.

(A) OnlyAction | needs to be followed

(B) Only Action Il needs to be followed

(C) BothActions | and Il need to be
followed

(D) Neither Action | nor Action Il needs to
be followed

Qll

012

94 fawen & ag= Fife o Frefofaa
o & forg & arom &)

Y

feeh wvR A wgEv & HRe RQed
Srarett ¥ gerdl & Iudn v gl wiey
o f&an ey

(A) Srarch vd & SR TR TAET I
AT e &)

(B) @ @daa afcadl 9 drarell w90
gred & 9 b gerEt 9

(C) 7= el W & aur gd Sw
7 ¥ W W g¥e B g

(D) TeTd ST ¥ gl 49 e @ o
eY i wgevr & Wi A gig § Rl
2|

o 0 S -
frafaftet & mf &) wuw & W@ R
a7+ &4 [ Ay U Fum @ |t d I
@ froRf/ frafafrat & goem s
qifey |

YA

ot af A gon § @ of 99 A
uenit # 9fE g 21

frarfaferl:

1. gferw o &1 v @ w9 aRS
et # yferwaral @ & T
frrerft gt fde |

11, Frafird @ wone € o @iy
¥ gyt & wity sfRes amari
o afie gow mE e AHER A
GGl 2|

(A) el frafafey | @1 ares s gty

(B) dae frfafy 11 @1 arer @ =Ry

(C) =i frafaftmt 1 3fR 1l &1 o=
Cagiliiiy

(D) A @ fermfafer 1afw 7 & frafaf i

F1 UTEA HET TR
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Q13

Q14

Ql5

Q16

Select the option that is related to the third
term in the same way as second term is
related to the first term.

Fumniture : Plywood :: Flooring : 7
(A) Walls

(B) Tiles

(C) Mattress

(D) Slippers

Select the option that is related to the third
term in the same way as second term is
related to the first term.

Cricket : Umpire :: Football : ?
(A) Commander

(B) Whistle Blower

(C) Referee

(D) Arbiter

Ina certain coded language, if *“WAITER'is
written as ‘XQCCLQ’ and *ARTIST" is
written as ‘BSTQWF", then how would the
word ‘BEGGAR’ be written in that
language?

(A) COEXJD

(B) CQGYID

(C) CSGCl)

(D) CQFZHF

In a certain coded language, if ‘'SUMMER'
iswrittenas ‘S2IM13E18’ and ‘WINTER®
is written as ‘WIN20E 18", then how would
the word *AUTUMN" be written in that
language?

(A) A21T2INI3

(B) A20U21M 14

(C) AZIT2IMI14

(D) A21U20N13

Q13

Q14

QI5

* Ql6

10

9 e &1 gy Ffay o dd o
W 315 I o 9 Hafta & fore awe @
T W UES Wl ¥ wafow 8

W:W::Wﬁﬁi‘r:?
(A) dicd
(B) <Few
(C) #gww
(D) R

W Aeey &1 wgw Ffw o $a v
VdfesHi o d diRat i ow |
T T U e ¥ wefad #)

(B) F@fdw (Whistle Blower)
(C) Yo
(D) anfdex

vw e e wmr § afy ‘WAITER?
& ‘XQCCLQ' faan wrar & aitv
‘ARTIST" &1 ‘BSTQWF’ foran wimn 8,
oS¢ FE W # ‘BEGGAR® # @
foran wmgm?

(A) COEXID

(B) CQGYID

(C) CSGCl)

(D) CQFZHF

y& FAftua ge wm &, af? ‘SUMMER’
® ‘S2IMI3EI8' f&an wman & R
‘WINTER® & ‘W9N20E18" faran wimar
B o S e v F CAUTUMN® @t
T foran wmg?
(A) A21T2IN13
(B) A20U21MI14
(C) A2IT2IMI4
(D) A21U20N13
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Pointing ata portrait on the wall, Madan said,
“That lady was the mother of the daughter
of the son-in-law of the father-in-law of the
mother of my son.” How is Madan related
to that lady in the portrait?

(A) Father

(B} Son

(C) Brother

(D) Father-in-law

Given below are four statements followed
by four conclusions. Identify which
conclusion(s) definitely follow(s) from the
given four statements disregarding the
commonly known facts.

Statements:

1.  Allboyscan play
2. Some girlscansing
3. Allgirls can cook
4. Noboy can sew

Conclusions:

) Nogirl can play

M) Allgirls can sew

[lI) Some cook are girls

IV) Boys who can play cannot sew

ISriyr

(A) Onlyconclusion III follows.
(B) Only conclusions ITl and IV follow.
(C) Only conclusions ITand I follow.
(D) Only conclusions and IV follow.
1

Q17 #H&s 3 €ER W & tH fam @ aiw

Q18

FUNI TP FEL, 96 AREr W gF B A
B Y & T B GA B A A | "
&1 39 o= Tl wfeer 9§ &1 Hag 87
(A) foen
(B) %
(C) g
(D) WY

TR T 3w ous et T Pt Ry
o & faftsa = 5 &\ W /9 fepd
faw v @t @ Pf¥aa s @ aEe
wa /N & /8 el § A umra w9 9
s el | B BT

e

1. Wil 988 Wa w8

2. @U wefddl TEa Y wed 8

3. W ersfsdt Hiow e wad) §

4. o N wea e 8 @ gea
?

Pres:

N ®d e G T8 v 8

Iy i wefsar foend & weh &

1 =e aad asfeal &

V) o @3 @ € 3 foad 78 av
wan &

(A) dae Frepd 111 srgavor o & |

(B) daa Fremf 111 a7 1V AR e
L4

(C) daw Fremd 11 i 111 SFTERTT TR
4!

(D) daet Frepd 13RIV e &
g
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Q19

Q20

Q21

Study the below series and identify what
would come in the place of 7"

7.13,21,31,43,57,73,?
(A) 89
(B) 91
(C) 93
(D) 97

Which of the pieces of information given in
the options is additionally required to answer
the following question?

Question:
Rajan is shorter than Ramesh, who is taller

than George. Who is the shortest amongst
them?

(A) Ramesh is the tallest person
(B) George is shorter than Ramesh
(C) George is taller than Rajan

(D) Ramesh istaller than Rajan

Which of the pieces of information given in
the options is additionally required to answer
the following question?

Question:
The ages of three friends, A, Band C, are in
the ratio of 5 : 4 : 3, What is the age of the

eldest person?

(A) AiseldertobothBand C

(B) Theage of A is a perfect multiple of §

(C) Bwas5 years old when C was born

(D) Theage difference between Aand B is
the same as the age difference between
BandC

12

Q19 Fr=ferfre sjaar #1 ud sl s =¥ &

Q21

wEfEs (7) @ wm w i @ e
g |

7,13,21,31,43, 57,73, 7
(A) 89
(B) 91
() 93
(D) 97

et we & saw 291 & fon et
i fay 1y a3 e aiw o affe
w9 § sEEar g

VRS E
O, W W BeT & ofk W oifel |
g 81 98 | wad wer @ 27

(A) vhe wag &9 2

(B) difdl, viw & vier #
(C) wifel, oo & o &
(D) e, o= | war &

F=fofte v =1 oar &1 @ faw Ret
i Ry ¢ o @ 5w siw ) afifRe
Y W AAEET B

U

o Pl A BalR Cat g 5:4:33
gy A & | waifs sy o afea &
iy e &)

(A) BalR CSFi & Awer #

(B) A ® g 51 f v &

(C) W& C&1 W1 8301 &1, T B &1 31
5o ot

(D) A3fR B# amyg ¥ forerem aiow 2, B
3R C &t amg A o weer @ sew &
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Q22

Q23

Q24

Q25

LM-E

Which of the pieces of information given in
the options is additionally required to answer
the following question?

(Question:

All the students in a class passed the exam
and each one got a unique rank. Sushma
secured 7th rank and has 4 boys ahead of
her and 9 girls behind her. What is the total
count of students in the class?

(A) Sushma has 2 girls ahead of her

(B) The ratio of the count of girls to that of
boysis2:3

(C) Thenumber of boys is more than the
number of girls in the class

(D) The topper of the class is a girl

Choose the odd one out.
(A) USB
(B) PCU
(C) DAD
(D) RTO

Choose the odd one out.
(A) Earthquakes

(B) Volcanoes

(C) Tsunami

(D) Global warming

Find the missing term in the following series.
8,24,48,80,7,168
(A) 148

®) 112
(C) 134

(D) 120

13

Q22

alah 1788

Q23

Q24

Q25

Frferftaer wes &1 S 29 @ fore et
# Ry v wEm & fFa aw @ sfRe
w1 ¥ @S g8ni?

'R B

e wen i fagandfl o gu ek
wa g argfadia Y ura @) | o B
741 Y& fireh ok Swd it 4 @@ aw
saa 0o 9 wefdi 8 | wan ¥ fgafi
& Fo e o &7

(A) o | 3 2 wefhal #

(B) wrefasal @ W &1 dws] O Jen
HarquEa 2:38

(C) @@l & e & # dsfedl #
Hem | st 2

(D) & i yad IS U ded) B I
[

e 9 & ardma &1 was Hifig)
(A) USB
(B) PCU
(C) DAD
(D) RTO

Pr=iferflaa 3 @ s @ agA A
(A) @9
(B) =T

(€) g
(D) fvaend aumn gfe (eae diff)

Preferfa siaen # e wear ww B
8, 24, 48, 80, 7,168
(A) 148

B) 112
(C) 134

D) 120
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SECTION-2 | GENERAL KNOWLEDGE | S0 QUESTIONS

Q26 Inthe computerterminology, what is the full Q26 YR w=m@el A, PDF &1 9of w9 a0

form of PDF? 87

(A) Printable Document Format (A) fitaw Stwple wite
(B) Print Dispatched File (B) fife fawiee vra
(C) Protocol Disk File (C) Wi favs v
(D) Portable Document Format (D) 9aa Stagite wie

Q27 In which city of Uttar Pradesh would you Q27 IR wew o R wew % angey Pt

find the following majestic Ghats: Assi Ghat, o gre e sl are, wftrsffer
Manikamnika Ghat and Harishchandra Ghat? g ue 3R eRwdy ue?

(A) Kanpur : (A) TR

(B) Varanasi (B) Aot

(C) Prayagraj (C) HATRT

(D) Ghazipur (D) YR

Q28 The famous Iron Pillar of Delhi, which has Q28 fRwen &1 uftg e wiw o wiEl @

withstood centuries of exposure to nature f&r S o @ 8, aw Pl 4 @
without any rusting, is housed within which fra tfefee ot § fem &2

of these historic complexes? (A) v witere gftew

(A) Jama Masjid Complex (B) @ faven aftem

(B) Red Fort Complex (C) Hga #r ufew

(C) QutbMinar Complex (D) & & wgay &1 IRER

(D) Humayun's Tomb Complex

LM-E 14 SERIES-E-H
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Q29

Q30

Q31

LM-E

The Ukai Dam is in which state of India? It
is the second largest dam of that state.

(A) Gujarat

(B) Telangana

(C) Odisha

(D) Maharashtra

‘Bahujana-hitiya bahujana-sukhilya’ is the
Sanskrit-based motto of which of these
national institutions?

(A) Doordarshan

(B) Banaras Hindu University

(C) Alllndia Radio

(D) Indian Meteorological Department

For helping farmers discover a better pricing
for their coffee, the Coffee Board has come
up with which of these innovative
marketplace apps?

(A) Coffes Blockchain

(B) Coffee Cloud

(C) Coffee Connect

(D) Coffee Choupal

41291208

15

Q29 T W WA @ Fefafaa 4 9

Q30

Q31

T § 87 UE 9 M B GER HE
T8 49 B
(A) TERE
(B) AFTI
(C) shfemm
(D) WERTS

Tgor-fRam ager-gar Fefala
¥ W frw U W @ @
mnfa angvi-arg &7

(A) graet

@®) Fw f¥g R

(C) 3ita fEan e
(D}mﬁumﬁmﬁﬂﬁ

frart @ s i & By dwee 5w
Pyt 3 weg o @ fog, 6 91 A
Freferfaa # ) few =1d= wde <@
T gosm o &7
(A) TP i
(B) ®IH! TS
(C) ®iH T
(D) Wit =re
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Q32 Name the state that has launched a Q32 Frferfeae v wron % g & & wead)

commission called PRANAM Commission HHERdl & gg AR @ e
tospecifically look into the responsibility of W e 49 & fv PRANAM s

elderly parents of government employees. S S AT O e & 87

(A) Assam (A) 3rEH

(B) Odisha (B) 3ifEm |
(C) TamilNadu (C) afrerrg

(D) Rajasthan (D) o

Q33 Whereisthe head officeof the TeaBoardof Q33 &) a1 aifw gfzan @ @ Saierd SEf

India? o R 87

(A) Darjeeling (A) =fsifein

(B) New Delhi (B) =18 faeeht 1
(C) Kolkata (C) HreASIEN ll
(D) Kochi (D) @ifeq

Q34 When you open a new Excel workbook, how Q34 14 I (& 7F Excel I3q® @ &, at

many worksheets is/are present by default e @ W fewice W 9 fvet aaivie

at the time of opening? Bt 87

(A) One QA)

(B) Three (B) @

(C) Five (C) g :
(D) Seven (D)«
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Q35

Q36

Q37

Photoshop is a software program that is
extensively used for image editing, graphic
design and digital art. The company that has
the selling rights of this software is:

(A) Microsoft Corporation

(B) Apple Inc.

(C) Oracle Corporation

(D) Adobe Inc.

EdgeVerve Systems is a wholly owned
subsidiary of which of these Indian IT
companies?

(A) Wipro

(B) Infosys

(C) HCL

D) TCS

Which of these countries shares an
international border with the state of Uttar
Pradesh?

(A) China

(B) Nepal

(C) Bhutan

(D) Bangladesh

Q35

Q36

Q37

Photoshop t& w1 Hfredar whm @
Rrasr suam giw ofsfen, mfvs
fEaEs ik Rftea ad @ g
T o R s @) Prefeafaa 3 @
foow woit & U g wivedw B a9
1 dfewr 87

(A) Microsoft Corporation

(B) AppleInc.

(C) Oracle Corporation

(D) Adobe Inc.

EdgeVerve Systems F=ifafan fow
A 1T #of B gl e o
wEgE Hu 87

(A) Wipro

(B) Infosys

(C) HCL

(D) TCS

Frfafta # & @19 w 2w oar Ry
TS0 F M S owerstia dem s
v 87

(A) ==

(B) =9r&

(©) TeH

(D) e
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Q38

Q39

Which among these districts of Uttar
Pradesh is completely surrounded by other
districts of Uttar Pradesh (i.e., does NOT
share a boundary with any other adjacent
state or country)?

(A) Saharanpur

(B) Deoria

(C) Hardoi

(D) Lalitpur

Veteran superstar Amitabh Bachchan hails
from which city of Uttar Pradesh?

(A) Prayagraj (Allahabad)

(B) Kanpur

(C) Meerut

(D) Agra

The famous Bankey Bihari Templeislocated Q40

in which town of Uttar Pradesh?
(A) Samath

(B) Varanasi

(C) Vrindavan

(D) Agra

DESWIDLY

18

Q38

Q39

s waw & Frafafaa 4 @ @9 W
forer g0 woa & =y Rt 9§ e gan
& (arh, el o s oo @ W @ W
w1 s A B g) ?

(A) HERTER

B) Fafar

(C) ®WRE

(D) wferergy

Sl YUTEER A FeE SRR Ha Y
& frm W & 2

(A) WITRTS (FETETTe)

(B) @R

(C) e

(D) T

g o faerd wRkw o wde & 5w
wew 7 fem 87

(A) W

(B) ATy

(€) Fama

(D) ¥
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Q41

Q42

Q43

Which of these is the state animal of Uttar
Pradesh?

(A) Red Panda

(B) Swamp Deer

(C) Indian Bison

(D) Water Buffalo

The city of Saharanpur of Uttar Pradesh is
globally famous for which of these arts and
crafs?

(A) Bangle making

(B) Perfumesand Scents

(C) Wood carving

(D) Carpet making

In which town of Uttar Pradesh would you
find the Central Avian Research Institute
(CARI)?

(A) Agra

(B) Bareilly

(C) Lucknow

(D) Kanpur

19

CEGYR0 LY

Q41

Q42

Q43

Fr=fafaa 4 4 &9 @ 9or 2o =
g uy 87

(A) ¥ 98T (Red Panda)

(B) arEfinm (Swamp Deer)

(C) Wit Sireft 7R (Indian Bison)
(D) wiwreh %1 (Water Buffalo)

IR WA T WERTYY ¥Ew Pyt
fra wen ol s & fog Rl
8?

(A) Tt g

(B) ¥ 3R g

(C) T8 W T

(D) BreA &

S U IFHIE W (CARI) SRR
wew @ fw wev A R #?

(A) sTmT

(B) aXeh

(C) @S

(D) FFR
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Q44 The state of Awadh (also called Oudh) was

ruled by Muslim rulers from 1722 to 1856.
What was the title that the rulers adopted
while ruling Awadh?

(A) Sultan

(B) Badshah

(C) Nawab

(D) Sahib

The famous A lai Darwaza, built by Alauddin
Khilji, is located at:

(A) Agra

(B) New Delhi

(C) Awadh

(D) Warangal

The historic town of Srirangapatna, home to
the tombs of Tipu Sultan and his father Hyder
Ali, isabout |1 5 km from which of these cities?
(A) Bengaluru

(B) Mangaluru

(C) Mysuru

(D) Belgaum

Q44 g Ty (o s A we wran &) W

OEow0R0Y

Q46

1722 9 1856 T W UIESHT BT A
1| 3@ IR AT F WY DT A
Fr=fafta # @ 29 @ 9ol g o
(A) He™

(B) =1E¥IE

(C) am

D) wifta

FamstE faeoh gam - T ufeg
HTg gvaran FEr W flew 27

(A) 3T

®) 7§ Reh

(C) raw

(D) IR

g @1 Wi wew o Ay
gear ik gwd fren #aw ach &
&1 'R W o €, 9% Prefafea
e | @ 15 km @ g9 ow Rew 87
(A) T
®) frge

(C) R
D) ¥
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Q47

Q48

Q45

Which of these organisations was founded
by veteran freedom fighter, writer and
educationist KM Munshi?

(A) Theosophical Society

(B) Bharatiya Vidya Bhavan

(C) Indian Statistical Institute

(D) Indian School of Mines

The world would specifically associate the
word ‘holocaust” with which of these
countries?

(A) Germany

(B) Egypt

(C) China

(D) Mexico

During the Mughal administration, what was
the exact role of a *Kotwal'?

(A) Leading the army for battle

(B) Maintaining the treasury

(C) Collecting revenue

(D) Maintaining law and order

Q47

Q48

Q49

) wadETT AR, das s fienfag
By, g A Frafefaa 4 @ B @ren
@ v B A

(A) Riffrsa aagd

B) W fagan s

(C) Wi wiftsrah wvwr

(0) a5 e wgw

w1 fw geeie v o e s @
el 5 <o @ o Sees Jam
.14

(A) orFY

®)

()

(D) Ay

Td U9 & INF, (@ Blaard B
w8 yfvesr T o7

(A) g& & fore 71 &1 g Hen
(B) TSP BN T &I

(C) WoIa YD awAl

(D) T Y AT AT TE
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Q50

Q51

Q52

LM-E

The Child Marriage Restraint Act, 1929, is
popularly known by which other name?
(A) SardaAct

(B) Vijayalakshmi Pundit Act

(C) NaiduAct

(D) MNanavati Act

In which city did Swami Dayananda
Saraswati first establish the Arya Samaj in
the year 18757

(A) Bombay (now Mumbai)

(B) Ahmedabad

(C) Pune

(D) Calcutta (now Kolkata)

Megasthenes, the author of the famed treatise
about India called Indica, originally belonged
to which country?

(A) Portugal

(B) Greece

(C) Egypt

(D) Turkey

411245630

2

Q50

Q51

Q52

ae fare s afafyam, 1929 #
Fretferfea fra sma am & & s s
t?

(A) naET e

(B) Roresh dfea affam

(C) g sy

(D) rEadt affam

Wl ZaEE wvead) A 5 e d uged
AR 1875 % amd v ) wien & o
(A) W (@ Tjad)

(B) ¥EwEER

(©)

(D) @ewe (3@ Hiernmm)

e, el ava @ an § ofig
e gfaT fordt 8, a® @ w9 9 frw 3w
& o7

(A) gt

(B) W

(C) frm

D) T
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Q53

Q54

Q55

LM-E

In which town of Uttar Pradesh would you
find the 14® century mosque called as the
Atala Masjid (or Atala Mosque)?

(A) Ayyubganj

(B) Haidergarh

(C) Jaunpur

(D) Fatehpur

The Greenwich Mean Time (GMT) marks
the starting of time zones in the globe, and
the time in any country is a measure of number
of hours that country’s time is ahead or
behind GMT. This town of Greenwich is
located near:

(A) London

(B) Amsterdam

(C) Chicago

(D) New York

The Cholanaikkans, Kurumbas,
Kattunaikans, Kadars and Koragas are
primitive tribal groups of which part of India?
(A) AndhraPradesh

(B) Andaman and Nicobar Islands

(C) Kerala

(D) Odisha

23

L

Q53

Q54

Q55

1481 var & wftg wfore R s
AR¥9TE (A1 Atala Mosque) &1 Wi &,
S wew B fea e ¥ fem #2

(A) ST

(B) #avma

(©) sty

(D) FeE

e § 2gw (GMT) 7&T W 2gn
i @ geana & wdie 8 afR Bl R
qu ¥ wHg GMT & &t an 618 2w &
el # wE @) W & W B ) fafae
fPrefafeaa 4§ @ fw wer & ora Rea
14

(A) g

B) TReEn

(C) R

(D) ~gdta

MANEHA, FEEI, FEAEDA, Bray AN
e AR & 6w w @ anfew S
g &

(A) 31 w3

(B) aizwF R FrEr gdv

(€) ¥v&

(D) 3nfEm
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Q56 Hero Cycles is one of the largest cycle

Q57

Q58

manufacturers in the world. In which city did
they first set up shop way back in 19567
(A) Ludhiana, Punjab

(B) Chennai, Tamil Nadu

(C) Sonipat, Haryana

(D) Kolkata, West Bengal

In which city of the world would you find the
Trafalgar Square?

(A) Beijing

(B) London

(C) New York

(D) Paris

The “Writer’s Building' is the secretariat
building of which state government of India?
(A) Telangana Government

(B) Kamataka Government

(C) West Bengal Government

(D) Gujarat Govemment

Q56

Q57

Q58

N1 Wl 3P @ WA a2 wEfha
frienell 3 & @ &1 1956 9 9EF useh
TR 6w wER A I g A wen A
eir?

(A) g, doma

(B) u=ig, ofarg
(C) Wi, wftamon

(D) S, ufdss dma

e WarR v & fhw owee #
feer &7
(A) @i
(B) @

(C) e
(D) R

ged fafedr wva 9 fve o= wweR
&1 afgarey waT 87

(A) VST TSR

(B) Fle® FHR

(C) uf¥em #me v

(D) TSR WIBR




Q59 The city of Vijayawada in Andhra Pradesh S Q59 3w u2w &1 fasrgarer wew 5w 48 @

Q60

LM-E

is located on the banks of which river?
(A) Cauvery

(B) Godavari

(C) Mahanadi

(D) Krishna

What is the capital of Azerbaijan, a country
that was once a part of the Soviet Union
(USSR)?

(A) Ulaanbaatar

(B) Kiev

(C) Baku

(D) Tashkent

Which of these four awards is presented by
the King of Norway and is often referred to
as the Nobel Prize of Mathematics?

(A) Fields Medal

(B) Abel Prize

(C) WolfPrize

(D) Chem Medal

Q60

Q61

e fery 22
(A) =EA
(B) emEd
(C) =@ridt

(D) =0

SRS o @ WfEa wa (USSR)
&1 U e o, Frfafta § & o
TS T #?

(A) IR

(B) ¥

(€) 1%

(D) a®g

fF=fafen weert 4 4 39 W er
id & v gan weqe far wan § aiw
ITR T R F AAA GRESR
e &7

(A) PicgE Asa

(B) Usct wigw

(C) IoF wigd

(D) o Aew
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Q62 What is the official term of the office of a

Q63

Governor of a state in India?
(A) 3years
(B) 4years
(C) 5 years
(D) 6years

What is the colour of the Ashoka Chakra in
the Indian tricolour ( Tiranga) flag?

(A) Purple

(B) Magenta

(C) NavyBlue

(D) Black

Which fruit was adopted in 1950 as the
“national fruit’ of India?

(A) Apple

(B) Mango

(C) Grapes

(D) Banana

26

062 Wa & fsh vou @ vouue & U W

Q63

anferite e o Rt & g
2

(A) 34

(B) 44

(€) 5o

D) 6an

e e (R s #§ aehe |
&1 9 @ R

(A) @i

(B) wrufer

(C) mEw e

(D) e

af 1950 %, Pr=fafla o 9 e va 3
G & MR Bd & ®©9 d e
T Y
(A) ¥4
(B) s

(C) 3T
(D) Fern
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Q65

Q67

LM-E

India’s Accord Group and Oman’s Ministry
of Oil and Gas have signed a $3.85 billion
deal to build an oil refinery in which of these
countries?

(A) Afghanistan

(B) Bhutan

(C) SriLanka

(D) Nepal

The dolls made out of this string puppet art
form of Rajasthan recently won the
Geographic Indication (GI) tag. By which
name are these dolls known?

(A) Channapatna Dolls

(B) Kondapalli Dolls

(C) Kathputli Dolls

(D) Khurja Dolls

Lakshmi Vilas Bank (LVB), a 93-year-old
bank from Tamil Nadu, merged with a
financial entity from Mumbai. Name the
entity.

(A) HDFC Bank

(B) Indiabulls Housing Finance

(C) Dewan Housing

(D) Reliance Home Finance

4 1 204530

Q65

R & y@id g R sl @ o alR
v starera A Prefaftn 4 @ 2w i
oe Regad a7 @ fag $3.85 faferem
@ wwshd uv gemn fey &

(A) ST

®B) e

(C) Hivete

(D) Aure

o # U@ g seyad sar 9
it IR A v @ A e dea
(GI) 271 oiven ) ge Tiew F=fafes
@ - 4 S ol &7

(A) w=ve i

B) remeeh 1R

(C) woyaed ¥

(O gort

auft Remw ¥ (LvB), afemrg &1
93 affa ¥w, Had A vo Acha sord @
W e gan &) g9 gaid &1 AW a
2?7

(A) s i

(B) gfEumen seftin g

(C) ar sraf¥i

(D) Raiaa g wgta
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Q68 Name the country thatconferred itshighest ~ Q68 a® @ w1 2w & s afta 2019 %

Q69

Q70

civil award, the Zayed Medal, on Indian
Prime Minister Narendra Modi in April 2019,
(A) Tran

(B) Afghanistan

(C) United Arab Emirates

(D) Malaysia

Vidarbha won the 2018-19 Ranji Trophy
tournament. Which team did it defeat in the
finals at Nagpur in February 2019?

(A) TamilNadu

(B) Saurashtra

(C) Mumbai

(D) Kamataka

Who is the Director of Tata Institute of
Fundamental Research (TIFR), a premier
research institute of India located in Mumbai,
as of March 2019?

(A) KN Vyas

(B) Shalini Bhatt

(C) Rakesh Bhatnagar

(D) Sandip P Trivedi
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AR FETHAl R Wi B A et
MRS WEHR, W4E yed | il
famar?

(A) &

(B) i

(C) WgF 3% NI (UAE)

(D) weifdmm

fa=d 3 2018-19 wrh g gabie ofar)
BRad 2019 F AR A wigad # 96
Frafafa # @ frm &m @ soar
(A) afrerg

(B) Hrrs

(©) 7
(D) TS

A1 2019 0% SUAE AFSN B ATER,
Has A Rua wva & wpw e e,
CTeT erfd SHUM WY (TIFR) @
fréws @19 &7

(A) T =

B) wfer wg

(C) ¥ WA

(D) wém q1. FAd
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Q71

The new year for both Andhra Pradesh and
Maharashtra starts in the Hindu month of
Chaitra. In Andhra, it is referred to as Ugadi.
How is it referred to as in Maharashtra?
(A) Lawni

. (B) Baisakhi

Q72

Q73

LM-E

(C) GudiPadwa
(D) Bhau Beej

Pandit Madan Mohan Malviya’s grandson,

Justice Girdhar Malviya, has recently been

appointed as the Chancellor of which

fiarmous university/institution?

(A) ShardaUniversity

(B) Banaras Hindu University

(C) Mahatma Jyotiba Phule Rohilkhand
University

(D) Chhatrapati Shahu Ji Maharaj
University

The Guru Angad Dev Veterinary and Animal
Sciences University is located in which city
of Punjab?

(A) Patiala

(B) Ludhiana

(C) Amritsar

(D) Chandigarh

Q71 3w wew 3R WEne ol & fow s
GcERGERE R R R
amfe @er oen & | §9 TRy 4 B
™ ¥ wefia R o 87

g (A) madi
B) Fared

(C) TS sl
(D) wre &

Q72 fw wew Wi werdia @ ), i
frer wredly, 1w @ A e ufeg
fawafagarea /dwrs & gafufy
(armem) @ v # Fgaa fsg g #7
(A) e Rafgaey
®) s fig Rvafiguea
(C) wEn it g wEEs

Rafigaea
(D) vy Wy ot e Reafigaea

Q73 % 3 2w vy fifdam ik oy Rwm
Rvafigaem dom & fa e § Rea
&
(A) ufearan
(B) Fwar
(C) IFTHR
(D) =@€rme
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Q74  The form of farming in which nearly all of the Q74 @l 1 a8 Wy fored e o fram

crops or livestock raised are used to sustain @ gRar & fafe & fg smm o
the farmer and his family is traditionally known H¥cl I Wi & a1 wepurer iy a
by which name? & 99 yuRte wu @ e am 9§ o
(A) Subsistence Farming W 87
(B) Minimalism Farming é (A) Sifaar piY
(C) QuotaFarming B) fafmiere ad
(D) Institutional Farming (C) @rer &l

(D) HeIrr Wt

Q75 Which of these is NOT an edible plantation Q75 Frfafea # & @ w1 & gy duw

crop? B T8 87
(A) Cocoa (A) Pt
(B) Arecanut (B) {urd
(C) Rubber (C) v

(D) Tea (D) =g
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Q76

Q77

Q78

Q79

SECTION-3 | GENERALSCIENCE /ARITHMETIC | 50 QUESTIONS

Let @ be a prime and b be a composite
number such that a + b= 240.Also, the
LCM of @ and b is 4199. Then a and b
respecciv'ely are:

(A) 23,217

(B) 17,233

(C) 19,221

(D) 13,227

Out of the following numbers, a terminating
decimal is:

(A)

(B)

=1 -

©)

Wbty B3| —

(D)

Tap Acan fillatank in 18 minutes, B in 36
minutes and C in 54 minutes. Tap A was
opened; 1 minute after that, tap B was
opened; and 4 minutes after that, tap C was
opened. The time required (in minutes) to
fill the tank was:

(A) 9

B) 11

(C) 6

(D) 8

The ratio of present ages of Reemu and Alka
is 3: 2. 20 years ago, which of the following
CANNOT be the ratio of their ages?

(A) 17:10

(B) 8:5

(C) 7:5

D) 9:5

OESrES0Y

k)

Q76 WF o aUd 3mTon e & AN b uw

Q77

Q78

Q79

o AT g sU avE @l a+ h=240a
NN B | FHD A a 2R b T YA
THEd® 4199 & | o g 3R b 1 HEG
HH 1A HH |
(A) 23,217
(B) 17,233
(C) 19,221
(D) 13,227

fFr=fefaa weel & 9§ wia svred
P AT B?

(A)

e S LT

(B)

©)

Wik | —

(D)

a A flt €t a1 18 firre § w waar
£ B39 36 fime % alv ¢, 54 fire #
HHdl & | 7d A @ T4 S6a | e
91, 7l B Wiel T4, 3R 99d 4 e
4%, d C @il Tar| T B WA @
fo amawas v (fee #) fasn e
(A) 9
B) 11
(©) 6
(D) 8

¥ 3R T & aRAAE AR B A
3:2%) 2094 ugal, Fr=iferfea i & =
| IAD Y BT AU AE B Hebar
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(A) 17:10

(B) 8:5

©) 7:5

D) 9:5
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Q80

Ram is twice as good a workman as Rahim.
Ram takes 6 days to complete the work.
Rahim will complete the same work in:

(A) 6

.(B) 3

Q81

Q82

Q83

LM-E

(©) 12
D) 9

If sinn’—msaz-i:, then sin@cosa is

equal to:
-
25
16
25
>
25
2
16

(A)
B)
©

D)

When the number « is increased by 20%
and then reduced by 20, we get 160. If the
number g is reduced by 20% and increased
by 20, we will get:

(A) 144

B) 140

(C) 152

(D) 148

While selling 5 m of a cloth, profit made is
equal to the cost price of 2 m of that cloth.
The profit percentage is:

(A) 40%

(B) 30%

(C) 45%

1
(D) 33;%
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Q80 WM & wrdEwaT WW @ HEEwar

Q81

Q82

Q83

T & | v e a6 R A qu
Rl 2 | W 9 ol & e Rt A
X1 BNT?

(A) 6

(B) 3

©) 12

D) 9

afg sintx—nusa‘=§"3. dr sinacosa

& A T BI?
P9
25
16
25
5.l
25
2
16

(A)
(B)
©
D)

e U W& a ¥ 20% gy el @ eiv
fiv @w 20 9 & wrh 2, o &9 160 W
graT 81 At dema ¥ 20% 0 B
IR 20 1 gfE &xht & A F=W W
BTT?

(A) 144

(B) 140

(©) 152

(D) 148

5 m B9 49 & <A, afofa @ 99
BYS B 2mD HY qoU B AT BT B |
afota @ ufere sma &9

(A) 40%

(B) 30%

(C) 45%

D) 33%%
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Q84

Q85

Q86

Q87

QB8R

LM-E

What is the name of the reserach station set
up by India in Antarctica in the year 20157
(A) Dhruva

(B) Hind

(C) Sagarika

(D) Bharati

Which of the following institutes was the first
to be established as 11T (Indian Institute of
Technology)?

(A) IIT Kanpur

(B) IIT Bombay

(C) NIT Kharagpur

(D) NIT Madras

How many years of orbiting Mars planet
were completed in September 2018 by the
Mars Orbiter Mission launched by ISRO?
(A) 4 years
(B) 5 years
(C) 6years
(D) 7 years

In the water cycle, clouds are formed by
the process of:

(A) evaporation

(B) condensation

(C) decomposition

(D) melting

Which of the following is a sign of deficiency
of vitamin C?

(A) Bleeding gums

(B) Protruding belly

(C) Nightblindness

(D) Stomach ache

Q84

4037

Q85

Q86

Q87

Q88
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a1 2015 WA gaw i § wnfle
HTEEH R B AW a4 27

(A) 5@

(B) fe=a

(C) wrifa

(D) wr

Freferfias 4 9 e wwems &) wos 10T
(it drgafved wear) & w3 wrrfte
fsar Tar ar?

(A) T &R
(B) T

(C) IT @YY
(D) IUT7aEm

99 (ISRO) qarr waifda wn aiffdex
forerr & ymaw 9 Rvciaw 2018 % e T
@1 gRma o ant # oft & 7d?
(A) 44

B) sad

(C) 64

(D) 74

el 9@ W, qedt w1 Toq Frefaf §
W few ufisw gawr g 87

(A) arsfravor

(B) Hg=4

(C) vee

(D) TAAIH

Frefalea 4 & a9 @ Refm c &
A BT e 87

(A) 7@l ¥ g P

(B) U A8 A1

(C) Ziwi

(D) e % 5
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Q89

Qo0

Qo1

LM-E

Who among the following are at higher risk
for anaemia?

(A) Old persons

(B) Children

{C) Pregnant women

(D) Animals

Which of the following animals can spread
rabies?

(A) Lizard

(B) Squirrel

(C) Pigeon

(D) Dog

Which of the following are an example of
surface water resource?

(A) Lakes

(B) Wells

(C) Oceans

(D) Tankers

Which of these is an inner planet or a
terrestrial planet in our solar system?

(A) Satun

(B) Jupiter

(C) Mars

(D) Uranus

Fuse protects an electric circuit from:

(A) overloading

(B) converting one form of energy into
other

(C) carrying current

(D) inducing current

41131288
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Q89

Q90

Q91

Q92

Q93

frafafag 4 9§ e oiffar &R &
o afts g &7

(A) 3@ @

(B) a=

(C) miad nfgend

(D) waR

frefafaa & € @9 W wHae W9
el waar 87

(A) fouweh

(B) frered)

(C) HHe

(D) g=n

frefafaa § ¥ $9 W w0 W 99
WA @1 UH Iarevvr 87

(A) e

(B) 3

(C) wq%
(D) &

Prafafaa # | 29 @ g 9R W8
&1 U@ aioRe a8 a1 iy 78 87
(A) 1

B) FEwf

(C) w7

(D) %Y UE

T, @ fagge wRuy (@@REE w@fee)
&) e Frefeiaa 4 9 e s 87
(A) FIftriRor (sfexenta)

(B) Hull @ UH WO @ gER A uRad
(C) a1 ufitasA

(D) ©IRT ISR
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Q94 Which instrument is used to detect the
presence of current in a circuit?
(A) Ammeter
(B) Voltmeter
(C) Rheostat
(D) Galvanometer

Q95 The three basic units of an electronic
communication system are:
(A) transmitter, transmission channel and
receiver
(B) modulator, demodulator and repeater
(C) transmitter, noise and information
(D) transmitter, signal and modulator

Q96 The lowest temperature at which a substance
catches fire is called its:
(A) melting temperature
(B) ignition temperature
(C) boiling temperature
(D) freezing temperature

Q97 Chemicals are added to food for:
(A) degradation
(B) decomposition
(C) preservation
(D) recycling

Q98 Which ofthe following statements is TRUE
about synthetic detergents?
(A) They work with both soft and hard
waler.
(B) They do not work with hard water.
(C) They work only with hard water.
(D) They only work with soft water.

LM-E
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Q94

Q95

Q96

Q97

Q98

wide ¥ fgga 9t suluf &1 gor o
& fog Freafofaa & ) v gumr @
uan far s 87

(A) tex

(B) aweefreR

(C) Raee

(D) fErieR

TS W gorell @ @9 qfrard
gorEdl o o &

(A) gieftex, grafim d9a s R
(B) Hregeey, Reffgaies stk Rt
(C) gieviieR, Afgw alv g oiive

(D) wivwder, R siv dtggaes

e W Ao o o B uent s
TS 8, I w1 HET oy &7

(A) TEFIS ATEM

(B) W TI9HA

(C) T99-® aga+

(D) Rwiw aoEE

o wE fw ot @ e
arrer #7

(A) Frefiawr (i)

(B) Ees

(C) oy

(D) g

Wi squeie (RidRs fede) @
an 4 Fyfafaa § & #%9 a ou w9
#?

(A) UE 75 3N SR wd S B W

T HN B

(B) 4% ToR W # oM ¢ N £
(C) U8 $ad FHOR Wed # TW HQ &
(D) @8 Fad g5 ot # W H §)
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Q99 Use of chemicals for therapeutic effect is
called:
(A) chemistry
(B) chemotherapy
(C) physiotherapy
(D) chromatography

Q100 Which of the following diseases is caused
by the deficiency of vitamin D?
(A) Rickets
(B) Scurvy
(C) Nightblindness
(D) Pellagra

Q101 What is the percentage of fat and sugar
recommended in the dietof a growing child?
(A) T%
(B) 25%
(C) 15%
(D) 30%

Q102 Based on the United States Department of
Agriculture (USDA) guidelines, what should
be the daily calorie intake of sedentary men
and women over 30 years of age?

(A) 1,600 02,200 calories
(B) 1,000 to 2,000 calories
(C) 1,000 10 1,400 calories
(D) 1,600 to 2,400 calories

Q103 Hypocobalaminaemia is caused by the
deficiency of which of the following vitamins?
(A) VitaminB12
(B) Vitamin A
(C) VitaminC
(D) VitaminK

Q99 fafraia wima & fore el &1 Swam
we @ Prefefaa 4 9 @ | @
I B
(A) R fasm

Q100 R D& o& & @ Pt
& W A e &2
(A) Raew
®) wHil
(C) el
(D) Temrm

Q101 dga 9= & forg amew # awn 3R g
fsern witrerr it fan T &7
(A) %
(B) 25%
(C) 15%
(D) 30%

Q102 wga oy 3MRST & PN T (USDA)
@ franfrdet & amar w30 af | yfw
# IW T ©FEE ol Ak ARl &
zam e drd @ wEw oo #F
HIey?
(A) 1,600 # 2,200 DA
(B) 1,000 ¥ 2,000 HaTH
(C) 1,000 9 1,400 F
(D) 1,600 & 2,400 B

Q103 ERUPREH=RET (Hypocobalaminaemia)
Prefafira 4 9§ fra fRefm @ @0 @
HIvl B 87
(A) RefmBI2
B) faafmA
(C) faefiFC
(D) fEfmK




Q104 Which of the following diseases is caused
by the deficiency of vitamin B3 (niacin)?
(A) Rickets
(B) Beriberi
(C) Nightblindness
(D) Pellagra

Q105 Which of the following allergens causes hay
fever?
(A) Seafood
(B) Penicillin
(C) Pollen
(D) Nuts

Q106 Which among the following controls the
beating of the heart and respiratory
movermnents?

(A) Medulla oblongata
(B) Spinal cord

(C) Spinal nerves

(D) Pituitary gland

Q107 Which is the basic structural and functional
unit of the nervous system?
(A) Neuron
(B) Nephron
(C) Cerebrum
(D) Cerebellum

Q108 Select the non-metal added to swimming
pools to kill germs.
(A) Oxygen
(B) lodine
(C) Chlorine
(D) Nitrogen

LM-E
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Q104 RrErfm B3 (Frafas) & &h |
Frfafea # @ #m ar 9 g &7
(A) Rabew
(B) #9ad
(C) wiiteh
(D) S&m

Q105 Frafafes # 9 fre wepts (tao) 3
TNV WATH Sav Biew &7
(A) T HIo
B) uffufer
(C) T
(D) 3r@e, arEm (Nuts) 12

Q106 Freifaftaa # @t 191 w1 g9 @) g=ws
v @& Frifa wvar &7
(A) Agen aifeiirer
(B) #o¥oy
(C) %% wifam
(D) drs e

Q107 fr=ifaifea A 9§ &9 & ofa a5
ol HeETHd AR wrafes god &7
(A) i
(B) =i
(C) ¥
(D) HfEaem

Q108 FemEi #1 AR & faw Rafifn w4
1A W ared -uR I o 87
(A) ST
(B) smarEH
(C) &&=
(D) "R
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Q109 Solvethe following.
10-[5-(5+10))+5
(-5+10)-(5-10)+5 ~ °
(A) 1
(B) 2
(©) 5
D) 10

Q110 Solvethe following.

0.009
=9
0.9

(A) 1

(B) L1
(©) 0.1
(D) 0.01

Q111 The sum of three consecutive odd numbers
is 36 more than the first of these numbers.
What is the middle number?
(A) 15
B) 17
(C) 19
(D) 21

Q112 The average of ten numbers is 6. If each
number is multiplied by 12, then the average
of the new set of numbers will be:

(A) 20
(B) 28
(C) 36
D) 72

144 144 3
Q113 Ifm=7.ﬂ1cnﬂ1culueufns:
(A) 0.0144
(B) 0.144
(C) 1.44

(D) 14.4

js

Q109 Fr=ferfaa @ g o)
10-{5-(5+10)]+5
(=5+10)=(5-10)+5 °
(A) 1
B) 2
©) 5
D) 10

Q110 Fr=fafan & e &%)
0.009
BT
(A) 1
B) 1.1
(© 0.1

(D) 0.01

Q111 e o= faws e & 4, &9
Heait # @ ygel wWe 6 ge A 36
s &) ma wen T 87
(A) 15
B) 17
(©) 19
D) 21

Q112 =9 weanil @ s 6 &) 3 wds
wear @ 129 Tun fear o @, @
TRl ® Av de &1 dwa & e
(A) 20
(B) 28
(C) 36
D) 72

144 144
Q113 afR ﬁl44=T B, o x & A9 @&

BrTT?
(A) 0.0144

(B) 0.144
(C) 144

D) 144
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Q114 The salaries of Arjun, Vikram and Vijay are
inthe ratio 2 : 3 : 5. If increments of 15%,
10% and 20% are allowed respectively in
their salaries, then what will be the new ratio
of their salaries?
(A) 3:6:10
(B) 23:33:60
(C) 21:03:60
(D) 23:35:60

Q115 Express the following as a decimal.
0.001%
(A) 1
(B) 0.001
(C) 0.0001
(D) 0.00001

Q116 A and B together can complete a piece of
work in 6 days. If A alone can complete the
same work in 10 days, then in how many
days can B alone complete that work?

(A) 12days
(B) 13 days
(C) 14days
(D) 15days

Q117 Monish can covera certain distance in 1 hour
24 minutes by covering two-third of the
distance at 4 km/h and the rest at § km/h.
The total distance is:

(A) 6km
(B) 6.5km
(C) 8km
(D) 10km

LM-E

Q14 35, famm iR Rsm w1 dw91 2:3:53
I A 8 Al s A | I
15%, 10% 3R 20% @t a0 gfe &
srgafar 41 ol 8, o 9w A dew @
IO FT eI
(A) 3:6:10
(B) 23:33:60
(C) 21:03:60
(D) 23:35:60

Q115 F=fefen # Tevee 3 awm 1)
0.001%
(A) 1
(B) 0.001
(C) 0.000]
(D) 0.00001

Q116 A 3 B fieaw 5 @ &1 6 =t 8
o & waEd # | gt A e 9w W
@ 10 fa= % g1 # waar &, o B adan
o0 @M @ o fRm # qu o wwa
87
(A) 12f
(B) 132
(C) 14187
(D) 15f&=

Q17 =wfver va Miftea g8 & R s
1 4 km/h 30 99 5197 B S ke/h B TRy
# 192 24 fyee 9 ag o woen &) &9
o W R
(A) 6km
(B) 6.5km
(C) 8km
(D) 10km
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Q118 A man,awoman and a boy can completea

- job in 2, 3 and 6 days respectively. How
many boys must assist | man and | woman

Q118

v amed, ua afive allv v et fae
™ @ HA 2, 3 3R 6 A A qu aw
e 81 T Bl aE R A qu s &

to complete the job in halfa day? fom 1 amed afie | wfden o weTo @

(A) 5 fore free cesl @ werar @fgu?
(B) 6 (A) 5
© 7 (B) 6
(D) 10 <) 7
(D) 10

Q119 The radii of two right circular cylinders A Q119 &1 geha 4+ (right circular cylinders)

and B are in the ratio 5 : 2 and their heights E A B froar 5:2% ague # ol
are in the ratio 7 : 5. What is the ratio of the ] Hugdl 7: 5@ U A £1 AR
curved surface areas of A and B? B® 9% % & &% (curved surface
(A) 2:7 areas) T I WA |
(B) 7:2 (A) 2:7
€ 2:5 B) 7:2
(D) 5:2 (C) 2:5

D) 5:2

Q120 Iftoday is Saturday, after 71 days, it will be: Q120 afg ano wifaw &, @ 71 fas & @, @

(A) Monday Br?

(B) Friday (A) HmaR

(C) Saturday (B) gmarR

(D) Sunday (C) ofar
(D) vfaaw

Q121 AABCH AB=6cm 3R ZA® v
wAigaTa® (angle bisector) AD 8 | af2
BD:DC=3:28 @ AC & 5\ &1

Q121 Ina AABC,AB=6cmand AD is the angle
bisectorof 2 A.IfBD: DC =3:2, then
AC will be equal to:

(A) lem BIm?

(B) 1.5ecm (A) lem

(C) 2em (B) 1.5cm

(D) 4em (C) 2cem
(D) 4cm
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Q122

Q123

Q124

Q125

e
If x* +— =23, and x>0, then the value
2

|
of X+— js:
X

(A)
(B)
(C)
(D) 6

Wh P =

Solve the following.

(cos” @=Ncot’ B+1)+1=7
(A) ~1

(B) 0

(<) 1
(D) 2

If*t’" is the standard deviation of a, band c,
then the standard deviation ofa+ 6, b+ 6
and ¢ + 6 will be:

(A) t

(B) t+6

(C) a+b+c

(D) &

If @ and S are the roots of

ax’ + bx + ¢=0, then one of the quadratic

- will

equations whose roots are i and P
be:

(A) a’ + bx +¢c=0

B) b +ax+c=0

(C) ex’ +ax+b=0
D)ex+bx+a=0

LM-E
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QI22

Q123

Q124

T
gfe ¥ +—==23 gtv x>08, @

X
x+%annhrmn€mﬂ
(A) 1
By 2
(C) 5
D) 6

Ffafaa & ga ¢
(cos’ @ -1)cot’ @+ +1=7
(A) -1

(B) 0

C) 1
(D) 2

R 2, b3lR c & woE fagew o & A
a+6,b+63N ¢+ 6T 79 fawem
a7 BIM?

(A) 1

(B) 1+6

(C) a+b+c

(D) 6t

QI25afR a +bx + c=0F Y a 3R B

& o gftam wiew & 9 v o
l A | ,
e ;:mfiga.ﬁﬂﬁﬁﬁﬂﬁ?1ﬁﬁ

e

(A) ax’ + bx +¢c=0
B) bx’ +ax +c=0
C) e +ax+b=0
D) +bx+a=0
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Q126

Q128

Q129

LM-E

SECTION-4 | GENERAL HINDI | 25 QUESTIONS

THAIBN 3R THAT B D WY
T8 &7

(A) el — el aF

(B) & — fRmaa

(C) W« — T=TEa

(D) wigs — fa=ma

@y oM 3R ARR AR gela R
e 87

(A) Eas gof fis

(B) weuw i Terd

(C) Wiy e

(D) g &gd

at 2016 # Wi e g fw
veeen @ e Tar

(A) e i

(B) vHIrEw wWE

(C) wrewy fam

(D) nfewr ot

wa o o 2= i ol daarrd
Bl | 9 it e & farn arpede
# foran wan &7

(A) 343

(B) 344

(C) 345

(D) 347
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Q130

Frefafaa mgaim &1 @ iRyl
(e ¥ 130- 132) & IwN 5|

wied=ifa @& \nEl 3§ Qaeedl Bl
I e weeg 8| 99 aw wikt|
@ difa 9w, gfie sl sfefe axdh
21 gwwTEd wWal & gfos @l
ST 1A 8| g B 9 W
5 0 A i O S R
R 74 2 | gy aNa @ o o
=3 aw 78! 8| faf & anfeee & amor
% | AR gl &1 Wue a @
#1 e Wiy, Rggea ik e
71 el @ vw wWE B ¥ 9
afifea, fgasedl @ swa foh
eI W B O | R & anfawnr
A 7 qRIP! B HUE FEAT AP P
TE W 4 A o) | Ao |
frafty & qwrerey | R wofe sreh
¢, o g Rl il oo e
& Al A @ W SR o | AR @
RIS WAR A A e 'l
vad o |y ¥ qUa aEel @
g o af) Rafy w8 @99, e
TR g R W W ge-d-ys
fgagah @ =l e ARa s
Tl o

Iugan TgwiY @ sfaq e @ 8
el &7

(A) WHH & & GRS

(B) ey @ gfrer

(C) gl &1 HUE

(D) gwidad 3T wRa
SERIES-E-H




Q131

Q132

Q133

LM-E

eai W Ywife atw @ Sfem

&7 e

(A) wifed & 3= &1 wa0 e
ARy W qRISTeE # |

(B) qw@eg wva & wfifyg @ swo

w8 ¥ | g9 qwrseral @ SRy b,

wRY Tyt gev fua 2wt @

go-3-y3 Rgareeh o 2

TS W AT B o | A WA B

ARG B BROT 2|

ARG & YROBTAd HHR A 7 31

e v

qRUEe @ SR A g gwre

F1 HUE ST IADA T TN

R & A off | AR A HER

gl & WUR @ e feama

©)

D)

witw I+ &1 waw Ffw s

o T &7
(A) 2Ty
(B) Jurera
(C) W&
(D) Heomerd

Frfafm 4 @ frea simfa g,
gieal 9 Wpfa aur vegfy sl
A & o &7

(A) 7=

(B) uRuA

(C) wa Rwfd

(D) Tmafea amdy

Q134

Q135

Q136

Q137

Q138

Frfafam 3 & fvwer gom e
W W e Wit Torel | g
e Fam, smew sfew v Py
@ qE @ T F g 87

(A) ®rafaa amew

®) srfergEn

(C) A

(D) Ru=

Fr=fefea 4 @ o9 wr wge ww @
87

(A) ¢

®) ¢

C =

(D) s

Pretferfe # & @ w1 avf e T &7
(A @
®) @
(€ @
®) 3

wvT ¥ e St @1 v gon 7
(A) ¥
®) W
(C) &
®) ¥

fFr=fafa 4 9 e e 4 afta wem
&1 waT g 87

(A) wffs

B) Frga

(C) worg

(D) e
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Q139

Q140

Q141

Q142

Q143

LM-E

P T I aeEn el 87
(A) Ui
(B) graTo

(C) T
D) fies

A F ARG WY @l B
(A) wE
(B) 3R
(C) e
(D) &

e forn gon g @ fow Swgw @
e T B

(A) &

(B) ww®

(C) wrwilere

(D) =

WM ¥ A & wer @l
g 81 - ofem v=m 9 Rew wm
ARy |

(A) SR

B) 7

(C) o

(D) e

FD B qH g T8 8 — T A
wigEAET e 1 W 7

(A) o7

(B) famn

(C) g
(D) @@
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Q144

Q145

Ql46

Q147

5w v ) odh gg &7
(A) =

(B) wat@

(C) wafd

(D) worT

I @I B | — 5 Hie & IgmEr
22

(A) wfem adaE

(B) wfe™ ¥ym

(C) wfem wfawy

(D) s wfe

fr=fafem 4 | 959 W WA= &
IETETl 87

(A) 1 qwrs g |

(B) qwr® g e |

(C) ™ w@rar i 8|

(D) 99 # wen &l S|

frfafla ¥ wa o @9 87

(A) # st g @ e §)

(B) ¥ 41 3 T A fl &) Ham
q B

(€) # ah I & Wi & fae
e §

(D) T v A 3w 2w O andh &)
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Ql48 o &, fawe Raw, w8 o7 iy 2
TRyl 3 da e Avm-Res a6 o
wanr far srerr?

(A) ,
(B) -
(C) :
o ;

Q149 i fAy ger Ik w98 ad & W ¥
H UH WISl Tod 8, 99 g8Er |
(A) 3o U3 @er B = wWraed! g
(B) 39 7 AM 1 = G A P
ar & | A S
(C) w1 e = faaferm = g n
(D) HTHAF G2 YST = o4 & HHe
L

Q150 ‘i@ &1 3 A TATHA — ArDifaRT
&1 Wl aef g |
(A) TV B FTEY M B
(B) v & faog AW BF
(C) T &
(D) 7@l A $5 vg foran aifdm
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ROUGH WORK /7% &1 & fau
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Read the following Instructions carefully :

Pr=fafaa Frdal & e @ w2

1. Out of the four allernatives for each question, only
one circle for the correct answer is to be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not liable
to be changed

2. The candidates should ensure that the Answer Sheet
is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere
else except in the specified space in the Answer Sheet,

3. Handle the Test Booklet and Answer Sheet with care,
as under no circumstances (except for discrepancy in
Test Booklet), another set will be provided.

4. The candidates will write the correct Test Booklet
Series as given in the Test Booklet in the Attendance
Sheet,

5. Each candidate must show on demand his / her Admit
Card 1o the Invigilator

6. Mo candidate, without special permission of the Center
Superintendent or Invigilator, should leave his / her
scal,

7. The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty. Cases where a candidate has not
signed on the Atlendance Sheet will be deemed not to
have handed over the Answer Sheet and dealt with as
an unfair means case,

8. Use of Pencil/Electronic/Manual Calculator is
prohibited.

9. The candidates are governed by all Rules and
Regulations of the Commission with regard to their
conduet in the Examination Hall, All cases of unfair
means will be dealt with as per Rules and
Regulations of the Commission.

10.After Examination is over, candidate has 1o return his
Answer Sheet to invigilator, Invigilator will hand over
the Candidate’s copy to candidate, then only
candidate is allowed to leave the examination hall.
Candidate is only allowed to take Candidate’s copy of
answer sheel.

11. Candidates are not allowed to take Test Booklet with
them, They have to submit the Test Booklet to the
Invigilator after the exam.

L L ELIDDY

Td W @ fog v ) 9w faweat 4 9
wel 9t @ forv ah v s 9w uEe w
&ad U@ il B f off avs o ae ulge
T A W U R I sife v o @
q1% 9 qge T8 O Heal &

ydemeft ghiftaa &Y &t o g=s 3 A
A W U4 99 W g 30 e 9 3l
wiETel} arge SRl ST uEe & Awifa
W & afafen araa = e

. WE gfeT wd aW uEE @ argde

war o, @i Al f Rty § @a
wien g # @i B v &) gEd o
qfrl Ud S UEAS SUeE A8 Sl
e

gftaer # € i ofen gitas Hida
& gherel W ade d ouftefy o= 9
fered |

. Y8 WM 9N ueds qdeefl, @6 srodes @

AT WA g fFany |
Fefieres a1 e e B i sefy @
fa=n =t gdemdt s e A B

I el ITNRID BT YT IR THF 20
fer ghemeft s w98 e aft
f&a ademeft 5 ouflefy =@ w swmER
81 fy o g8 wFr @ @ 9Ed o
9= 8 dltern & siw o% arifea awm @
AT HFAT AT |

. ufe [/ gelaeine / svaanfed TReds &

auant afola &)

e gt # amevw @ o whemeft s @
il Frawt va Rt gro Frafia 21 aepfm
el @ W A H G aman @
frit vdt faffaet & R Bl

10. 9908 @ IURGET el IO UHG oF IahEE

@ dlter ¥ e g spaefi @1 o
g A apaedt ufy /g wfy e wod
St e fored Suvia ) @ @ Biea &
Al & ot | o wEE 9 apaef wiy
el Y A W @ o @ sy R

1.9 @ suvia wdearedl st olEr gias

&8 aodEs o dtert ghft) ofen
gRasr & adereff s Wy 98 Q@
o T )
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